Zusammenfassung: Goniometrie |

sin(a) = cos(a). tan(a) cos(a) = sin(@) ) = sin()
tan(a) cos(a)
sin’ (@)+ cos” (@) =1 sin®(a) =1~ cos’ () cos’(a) = 1—sin*(a)

Addition, Substraktion

sin(e £ ) =sin(a)- cos(B) £ cos(e)-sin(B)
cos(a + ﬂ) = cos(a)~ cos(ﬂ)$ sin(a)- sin(/i’)

tan(a + ﬂ) _ t_an(a) + tan( )
1 ¥ tan() - tan(f3)
doppelte Winkel

sin(2a) = 2 -sin(er)- cos(a)
cos(2a) = cos’(ar)—sin* (@) = 1-2sin*(a) = 2 cos” () - 1

2 -tan(r)

tan(Za) = m

halbe Winkel

el ff tan(a>:_2'ta“(§]
) cos ) 2 -]



